4.1

28.9

10

41 vy

4.2
4.3
4.4

35.48
30
4.1)

39

1,000

/

1,000

1

/ 1
225 |

37.18

13.8
8.63

4.1)

49
28.5
4.1)

20

5.96

30

29



52.63 /
45.22 /

2 82.8

0 42 /

2 13.33 /
52.9

39.1 1

1 843.75 /

850.46 /

40.04 /

40 30 / 43

32, 534

1 19.04 /
10.70 /
11 20 /
2
95.55 78.26

0 1 4.1)

41, 24.14
2
1,147.68 /
2 871.21 /

1,416.13 /
1 1,802.88
588.54 /

441.53
1,380

49

50

/



4.1

30 - 39
40 - 49
50 - 59

(mean)

(Range)

<1
1-10
11-20

100 49.0
A 21.0
36 36.0
26 26.0
17 17.0
37.78
10.78
20-59
14 14.0
61 61.0
13 13.0

58 28.5
33 56.90
20 34.48
5 8.62

28.90

6.61

20 - 43
13 224
35 60.3
8 13.8

46 22.5
15 32.61
16 34.78
12 26.09
3 6.52
35 .48
9.16
20 - 59
2 4.3
19 43
15 32.6



41

> 11

(mean)

(range)

8.63
9.57
0.5 - 38

43 43.0
39 39.0
14 14.0

52.,63
8.1
40 - 74

5.96
6.21
05 29

48 82.8
1 121

45 .22
6.98
40 - 64

! 15.2

13.50
9.33
0.57 - 36

46 100.0

40,04
0.,29
40 - 42



410

11 - 20
21 - 30
> 31

(mean)

(range)

1 -

1,000

32

19
36

(&S]

41

13

32.0

19.0

36.0

8.0

5.0
19.04
9.59
5-60

41 .0

13.0

3l

15

14

53 4

25.9

15,5

5.2
13.33

696
3-30

24.14

8.62

23

18

PO L

18

10.70
6.66
2-30

50.0

39.1

6.5
4.3

39.1

13.0



1,001 - 2,000
2,001 - 3,000
> 3,001
1 (mean)
(S.D.)
(range)
1- 1,000
1,001 - 2,000
2,000 - 3,000
> 3,001
(mean)

(range)

1 11.0
5 5.0
2 2.0
1,416.13
1,055.86
187.5 - 4,500
2 21.0
4 4.0
3 3.0
850.46
677.93
1875  2,625.0

2 3.45
4 6.90
2 3.45
1,802.88
1,194.56
1875 - 3,375.0
28 48.28
2 3.45
1 1.72

441.53
473.22
187.5 - 2,250.0

4 8.7

1,380.00
1,096.27
1125 - 2,625.0
16 13.8
2 4.4

588.54
461 .30
93.8 - 1,875.0



41

(mean)

(range)

1
1,147.60
935.43
187.5  4,500.0

0 11,
843.75
974,28

1875 - 3,375.0

871.21
826.88
93.8 - 2,625.0



55

4.2

11 28.14
(yg*) (11.45 - 65.10 ygl.) 2 19.47 o,
(8.73 - 38.89 yg*) 19.39 ygy. (.02 - 37.30 yg/)
56 1 130 ygl
2 11 20 yq!
55.2 63.0 1
10 yg/ 2 1
40 yql 88 « . 1
40 yg'l, 2
30 ygr/  89.7 95.7 %
4.2
1 2
(yglioo ml)
< 10, - - 1 1.7 1 2.2
1 - 20 16 16.0 32 55.2 29 63.0
21 - 30 56 56.0 19 32.8 14 304
3 - 40 16 16.0 6 10.3 2 4.3
o0 — 6 6.0
5l - 60 3 3.0
6L - 70 3 3.0
(mean) 28. 14 19.47 19.39
(S.D.) 1059 6.37 4 86

(range) 1145 - 6510 893 « 38.89  8.02 - 37.33



56

3 (p < 0.0001) ( 4.3)
1
2 (Multiple Ranges test)
(Least Significant Difference; LSD)

0 (o< 00) 1
2 1
(p > 0.05) 2
( 4.4)
1
looo |/ 2
1,000 [
2 1,000 .
/ :
(r) 0.4133

(p < 0.001 .-



4.3

D.F.

2 3863.5906
201 14471 4644
203 18335.0550

(ONE-WAY ANOVA)

F-Ratio

1931 .7953 26.8315
11.9973

4.4 Least Significant Difference

19.3861
19.4695
28.1379

0.05

1

3

2

1

57

p-value

< 0.0001



58

4.4

4.4.1 1
1)
20 - 29
30 - 39 30 - 39
40 - 49 3 50 - 59
3 ( 4.5)
I 1
(p = 0.2567) ( 4.6)
4.5 ,
1
3) ( )
20 - 29 2470 T =
30 - 39 28.74 * 10.66
40 - 49 21 .87 *11.29

50 - 59 A5 *12.84



4.6

3 455.7944
% 10639.2213
9 11095.0157

1 2277 W
2876 v 23.61 yo%

3l

1 1-10 L -

’ (p > 0.05)

59

(ONEWAY ANOVA)

1
F-Ratio  p-value
151 .9315 13709 0.2567
110.8252
1-10 1n- 20
2 - 30
4.7)
(p = 0.0488)
1n- 20
(0 < 0.05)
3
21-30. .

( 18 49)



< 1
1-10
11-20
21 - 30

A3l

4.8

y D.F.
4
95
99

1050.1246
10044.8910
11095.0157

22,75 + 417
28.76 + 10.94
33.61 + 1331
28.67 + 8.86
21.96 + 496
(ONEWAY ANOVA)
F-Ratio
262.5312 2.4829
105.7357

60

-p-value

0.0482



61

49 Least Significant Difference

1R Ve i ialt Mo 19QLa ¢ 1
5 1 4 23
21,9600 5
227514 1
286650 4
28.7636 2
33.6108 3 x X
* 0.05
()
, 40 - 50
/ 22,95 yo 5L - 60
2691 v 6L - 70 / 38.86 58.28 Voo 7L
/ ( 4.10)
(p < 0.0001) (b < 0.05)

( 411 412)



l)
40 - 50
5l - 60
6l - 70
> 11
4.11
, DF
3
96

99

6458.4647
4636.5510
11095.0157

2295 * ¢ AT
2691 t 6.21
38.86 + 10.08
58.28 = 5.45

(ONE-WAY ANOVA)

F-Ratio

2152.8216 44 5743

48.2974

62

P-value

< 0.0001



n 412 Least Significant Difference

12
22.9516 1
26.9149 2 *
38.8636 3 ¥
58.2750 4 *
. ' 0.05
4) g
(
(0 < 0.0001)
(p > 0.05)
110 1
' (p < 0.05)
1-10  / 1
. ’ (p > 0.05)

( 414 4.15)

4

2111
4.13)

63



4.14

D.F.

%
99

64

21.11 + 5.09
2510 £ 5.40
32.94 £ 11.61
35.70 £ 11.50
37.99 £ 10.40

+

+

+

(ONE-WAY ANOVA

F-Ratio  p-value
3526.6075
7568.4082
11095.0157

881.6519
719.6675

11.0667  <0.0001



4.15 Least Significant Difference

21.1116
25.1032
32.9367
35.6950
37.9960

(

3,000

/

0.05

4.16)

y$

= o D e, O

3,001

26.13 v

/

12 3

26.11 ufo
36.63 Vi

(b < 0.01)
2,001 -

65

4



(p < 0.05) 3,000 [

1,000 | ! (p < 0.05)
1,001 - 2,000 /
11,000 /
(p < 0.05) ,
{1,000
4.16
1
I (
0 26.13 * 7.91
{- 1,000 25,52 * 6.24
1001 2,000 21.72 + 1,81
2,001 3,000 28.10 + 6.0
3,001.+
26.11 * 6.28
1 - 1,000 21.74 + 555
1,001 2,000 35.23 = 12.03
2,000 3,000 53.09 = 15.48
3,001 + 37.93 = 535

36.63 + 14.85



4.18

217385
25.5243
26.1251
27.7150
28.1000
35.2336
37.9350
53.0900

D.F.

—

92
99

4701.5061
6393.5095
11095.0157

67

(ONE-WAY ANOVA)

671.6437
69.4947

Least Significant Difference

0.05

—~N OO OO W D O = o1

F-Ratio P-value

9.6647 < 0.01

00236 87

* % % k% *



11

2,001

Analysis)

/

1L -

20

10

68

10/

(Multiple Regression

(Stepwise Regression Analysis)

4.19,

420, 421



X1

X2

X3

x4

X5

X6

7

4

19 Correlation M atrix

1.000

0.1845
(=0.033)

0.0673
(p=0'253)
0.6605
(<0.0001)

0.4576
(0<0.0001)

0.5681
(010.0001)

0.2494
(p=0.006)

0.4726
(p-c0.000I)

X1

1.000

0.7157
(p-<0.000.1)

0.2102
(p=0.018)

-0.0021

(p=0.492)

0.0318
(p=0.377)

0.0042
(p=0.483)

0.0545
(p=0.295)

X2

1.000

0.1057
(p=0.148)

-0.0762

(p=Q.226)

-0.901

(p=0.186)

0.0088
(p=0.466)

0.0950
(p=0.178)

X3

1.000

0,3120
(p=0.001)

0.4662
(p=#0.0001)

0.3769
(p«0.0001)

0.4827
(0.0001)

x4

1.000

0.7494
(p«0.0001)

0.2239
(p=0.013)

0.2457
(p=0.007)

XH X6 X7

1.000

0.1807 1.000
(p=0.036)

0.2730 0.6616 1.000
(p=0.003)  (p"0.000l)



4.19

1
(p < 0.0001)
(p =0.148)
1
4.20
1 4
(p <o0.0001)

(x") (X-)

0.72

0.46

(p =0018)

70



11

4.20

1
, ()
' p-value
(xp 0.1845 0.033
(X2) 0.0673 0.253
(x") 0.6605 < 0.0001
(x") 0.4576 < 0.0001
(X].) 0.5681 < 0.0001
(X6) 0.2492 0.006
(Xy) 0.4726 < 0.0001
1
0.01 0.05
3 (X ) (X5)
(x") 3’ I
4.21
4.21
3
43 (RM = 0.43) , (Regression Coefficient)
b = 051478 1

0.514 /100



4.21

i (x") 0.51478

(x5)  0.28551

(Xy) 0.00209
Constant -4.06760
F = 38.73725

*%

B y Rz R2-Change

0.42367 0.34055 0.43632 0.43632

0.32130 0.28369 0.52276  0.08644

0.18038 0.15767 054762  0.02486

0.05
0.01

72

Partial F

24,61 1%*

17.079**

5.276**



(R™ - Charge =

(p = 052)

, 2.8

2.4 (R™ - Charge =

, 54 (RM

0.086)

10

0.024)

0.54)

54

40676 + 0.51478 |
+ 0.28551 |

(

8.6

52
0.28551

) + 0.00209

3



4.4.2

4.22

4.23

D.F.

55
57

74

1)

1832 - 20.32 ligh ( 422)
(b = 0.5561)
( 4.23)

20.72 - 6.76
18.32 £ 3.52

(ONEWWAY ANOVA)
2

F-Ratio P-value

48.8224 24.4112 0.5930  0.5561
2263.9233 41.1622
2312.7457



(p =005

21 - 30
16.45 Yo
*
4.24
<1
1-10
11 - 20
21 - 30
4.25
DF.
3
54

57

1-10 11 -

19.66 y%
( 4.24)

(p = 0.0494)
1 1-10

(b= 005) ( 4125 4.26)

16.24 £ 3.84
20.80 + 7.25
19.66 + 4.16
16.45 + 3.67

(ONE-WAY ANOVA)

F-Ratio

215.3551 71 .7850 1.8482
2097.3906 38 .8406
2312.7457

15

20

p-value

0.0494



(

4,26 Least Significant Difference

2
14 3 2
16.2466 1
16.4450 4
19.6638 3
20.7957 2 *
0.05
()
19.72 yg% 17.75 yg% 19.46 yg% 40 -
/ 51 - 60 [ 61 - 70 /
4.27)
(p = 0.7534) ( 4.28)
4.217
2
( I ) (
40 - 50 19.72 + 6.66
51 - 60 17.75 + 5.80

61 10 19.46 + 1.33

76

50



4.28

D.F.

2 23.6950
55 2289.0587
57 2312.7457

(4)

1-10 |/
26.49 y% 32.25 v
4.29)
(b <o0.0001)
!
2A-30
poos) (430

(ONE-WAY ANOVA

F-Ratio

11.8475 0247

41 6191

19.81 y% 11-20
n-30

n-2

431)

7

p-value

.7534

/

16.03



4.29

4.30

D.F.

54
o7

78

16 .03 * 3.75
1981 4.2
26.49 * 511
32.25 = 1.94

(ONEWAY ANOVA)

F-Ratio  p-value

1303.1231 434.3746 23.2327  <0.0001
1009.6226 18.6967
2312.1457



(

4,31 Least Significant Difference

16.0277 0
19.8120 1
26.4922 2
32.2533 3
A 0.05
()

. % - Y%

4.32)

2001
2001 - 3000
/ 1001 - 2000
(P < 0.05)

/
/

2

012 3

*

* *

R

25.1.9

0.0001)

M1 10%10

/
1001 - 2000
1

/
1000

79

/



80

] 1 / 2000 /

L', 1000 / (b > 0.05) 2001 -
3000 I 1001 |oA 1

(p » 0.05) ( 4.33 4.34)

4.32

1 - 1000
1001 - 2000
2001 - 3000
3001 +

1 - 1000
1001 - 2000
2001 - 3000
3001 +

16.85 * 4.49
17.46 * 4.30
1911 = 4. 14
30.97 = 0.0
0
18.00 * 4.81
18.38 * 20.6
26.53 * 5,01
30.44 = 6.44
3431 = 0.16
25.791 7.49



4.33

DF.

—

50
57

1368.8072
943.9385
2312.7451

81

(ONE-WAY ANOVA)

195.5439
18.8788

434 Least Significant Difference

16.8514
17.4582
18.3760
19.1050
26.5300
30.4375
30.9700
34.3050

0.05

co LW N oo M ol e O

0

1

F-Ratio P-value

10,3579 <0.0001

267 38



62

2
1,
1 "1-10
2.
o
I
3.
2001 - 3000 /
1001 /
] (multiple Regression
Analysis)
4.35
2
N
(b < 0.0001) ' 044 075
4.36
4 (b < 0.0001)
(x") (X6



<<

X2

*3

x4

X5

X6

X7

1.000

0.0810
(p=0.273)

-0.0465

(p=0.364)

0.0017
(p=0.495)

0.5840
(p”o0.000l)

0.7922
(p<0.0001)

0.4758
(p<0.0001)

0.7845
(p<0.0001)

435 Correlation Matrix

K1

1.000

0.7374 -
(p<0.0001)

0.4412
(p<-0.0001)

0.1150
(p=0.195)

0.0750
(p=0.288)

0.3393
(p=0.005)

0.1516
(p=0.218)

1.000

0.1835
(p=0.084)

-0.1067

(p=0.213)

-0.1024

(p=0.222)

0.1326
(p=0.161)

-0.0489

(p=0.358)

X3

1.000

0.3345
(p=0.005)

0.1889
(p=0.078)

-0.0172

(p=0.448)

0.0044
(p=0.487)

x4 *5 X6 ¥7

1.000
I

0.8191 1.000
(p<-0.0001)
0.3277 0.4521 1.000
(p=0.006) (pc-0.0001)
0.46001) 0.7564 0.6664 1.000
I (pc0.000N)  (p<?0.0001)  (p<=0.0001)



4.36
J 2
(xp
(X2)
(X9)
(x4)
(Xi.)
<y
(x")
2 (X)

62 (R = 0.62)

Coefficient) = 0.36137

( 4.37) 2
70

0.0810

- 0.0465
- 0.0017

0.5840
0.7922
0.475

0.7845

8

84

(r)

P-value

0.273
0.364
0.495
< 0.0001
< 0.0001
< 0.0001
< 0.0001

<001 <0001
(")

(Regression

(R™ - Change = 0.0 )



85

= 1530081 + 0.36137 ( )

+0.00299 ( )
437
1
3 Y R2 RZ-Change Partial F
(x5) 0.36137 0.46464 030392 062763 0.62763  ,7.39,0**

o 0.00299 043309 0.28328 0.70788 0.08025 15.109
Constant 15.30981

F 66.63861

* ! 0.01
*ox 0.001



20 -
30 -
40 -

50

4.4.3

1)

1826 20.04 yo | 438)

( 4.39)
438

() (

% 19,59 + 5.83
3 2004 * 5.73
4 18.26 + 2.19

59 19.40 + 3.06

86

(p = 0.8217)



4.39

3 22.6671
42 1041.0360
45 1063.7031

11.62 Y ¢fh
21 -3 3l
18.38 yo% 19.40  yo%

(b = 0.1861)
(p < 0.05)

( 441 44))

87

(ONEWAY ANOVA)

F-Ratio  p-value

1.5557 0.3048 0.8217

24.2866

1
1-10 11 -20
19.78 yg% 20.39
( 4.40)

(p > 0.05)



88

4.40
() ( )
<1 11.62 + .09
1- 1o 19.78 + 4.78
-2 20.39 = 5,59
21 - 30 18.38 = 2 .05
3+ 19.40 + 3.06
4.41 (ONE-WAY ANOVA)
D.F. F-Ratio p-value
4 145.6317 36.4079 1.6259  0.1861
4 918 .0713 22.3920

45 1063.7031



442 Least Significant Difference

11,6200 1
18.3829 4
19.4033 5
19,7811 2
20,3860 3
! | 0.05
0)
8
(4)
1969 , 22.45 3431 yo% 1-10
A-30 | ( 4.43)
(b <00001)

/ ]

89

1 45 25

40

17.45

n-2 |



11-30 |

4.43

4.44

D.Fc

42

45

20

1-10

561.8222
501.8809
1063.7031

11-20

4.44

/
(p < 0.05)
4.45)

187.2741

17.45 £ 3.97
19.69 £ 2.37
2245 + 4.5

o 3431 £ 427

(ONE-WAY  ANOVA)

F-Ratio

11.9495

15.6721

90

p-value

< 0.0001



4.45

17.4474
19.6939
22.4533
34.3100

17.65 Yo%
22.52 V%

0.1153)

0.05) |

9

Least Significant Difference

0.05

11000
4.46)

447 4.48)

NN -k O

0 12 3
A
*
A A A
19.38 Yo%
(p =
17000 I (P <



4.46

0
1 - 1000
1001 - 2000
2001 - 3000
3001 +

1 - 1000
1001 - 2000
2001 - 3000
3000 +

17.65 * 4.02
19.51 + 263
18.37 * 441
0
0
19.38 £ 271

23.63 *8.20
0

20.85 * 7.24
0

22.52 * 7.54

92



93

447 (ONE-WAY ANOVA)

y D.F. F-Ratio P-value

4 173.0481 43.2620 19915  0.1153
41 890.6549 217233
45 1063.7031

4,48 Least Significant Difference ]

0217

17.6506
18.3700
19.5094
20.8475
23.6283

Ol N, O

0.05



94

2
2.
12 ,
3.
.1 - 1000 /
1
(Multiple Regression
Analysis)
o (1)
(p < 0.0001) 0.50 0.94( 4.49)
4.50 3
(x") (Xc)
(Xq)

(b < 0.0001)



X1

X2

X3

x4

X5

X6

X7

1.000

-0.0219

(p=0.443)

-0.0427

(p=0.389)

-0.1282

(p=0.198)

0.4032
(p=0.003)

0.6647
(p<0.0001)

0.3717
(p=0.005)

0.1316
(p=0.192)

449 Correlation matrix.

X1

1.000

0.9417

(p<0.0001)
-0.0737

(p=0.313)

-0.0768

(p=0.306)

-0.0967

(p=0.261)

-0.2466

(p=0.049)

-0.2470

(p=0.049)

X2

1.0000

-0.565

(p=0.355)

-0.0752

(p=0.310)

-0.0594

(p=0.347)

-0.2291

(p=0.063)

-0.2646

(p=0.38)

X3

1.0000

-0.1491

(p=. 161)

-0.1129

(p=0.227)

0.0341
(p=411)

0.2627
(p=0.039)

x4

1.0000

0.7575
(pco.oool)

0.4002
(p=0.003)

0.2677
(p=0.036)

X5

1.0000

0.5093
(pco.oool)

0.3218
(p=0.015)

X6

1.0000

0.6759
(p<0.0001)

X7

1.0000



C o /=04

(Regression Coefficient) = 0.45278 ( 4.51)

= 16.96417 + 0.45278 ( )
4.50 ' ’
, (r)

P-value

(xp 0.0219 0.443
(X2) - 0.0427 0.389

o) - 0.1282 0.198

(X4) 0.4032 0.003

(X5) 0.6647 < 0.0001

0 (Xg) 0.3717 0.005

(1) 0.1316 0.192



97

4,51

b B Y R2 R2-Charge Partial F

(X5) 0.45278 0.66470 0.66470 0.44182 0.44182 34.828~
Constant  16.96417

F 34.82111

* 0.001
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